LAMPIRAN
Listing Program
#include <EEPROM.h>
#include <LiquidCrystal.h>
LiquidCrystal lcd(6, 5, 4, 3, 2, 1);
float kekeruhan;
float tegangan;
int val;
int m;
float rataz2;
void setup() {
// put your setup code here, to run once:
lcd.begin (16, 2);
pinMode (A1, INPUT PULLUP) ;
pinMode (A2, INPUT PULLUP) ;
pinMode (A3, INPUT PULLUP) ;
lcd.clear () ;
delay (50) ;
lcd.setCursor (0, 0);
lcd.print (" Turbidimeter " );
lcd.setCursor (0, 1);
lcd.print (" Isma Tem 2015 " );
delay (50);
}
void loop () {
// put your main code here, to run repeatedly:
float rata2;

unsigned long buff=0;



for(int 1=0;1<100;1i++);

{

val = analogRead(AQ);

buff+=val;

}

rata2=buff/100;

tegangan= val* (5.0/1023.0);
if (tegangan<=0.55)
{kekeruhan=0 && 0.5;}
if (tegangan>=0.59 && tegangan <=0.60)
{kekeruhan = tegangan*0.60/0.60;}
if (tegangan>= 0.60 && tegangan <=0.61)
{kekeruhan = tegangan*0.65/0.61;}
if (tegangan>=0.62 && tegangan<=0.63)
{kekeruhan=tegangan*0.68/0.63;}
if (tegangan>=0.64&& tegangan<=0.65)
{kekeruhan=tegangan*4.26/0.65; }
if (tegangan>=0.66&6& tegangan<=0.67)
{kekeruhan=tegangan*10/0.67;}
if (tegangan>=0.67&6& tegangan<=0.68)
{kekeruhan=tegangan*50/0.68; }
if (tegangan>=0.69 && tegangan<=0.72)
{kekeruhan=tegangan*100/0.72;}
if (tegangan>=0.73 && tegangan<=0.74)
{kekeruhan=tegangan*120/0.74;}
if (tegangan>=0.83 && tegangan<=0.88)
{kekeruhan=tegangan*150/0.88; }

if (tegangan>=1.25 && tegangan<=1.28)



{kekeruhan= tegangan*200/1.28;}
if (tegangan>1.28)
{kekeruhan=200;} 1if (digitalRead(Al) == LOW) {
tampilkan hasil();
}
if (digitalRead(A2) == LOW)
{
lcd.clear () ;
lcd.setCursor (0, 0);
lcd.print (" Clear Memori " );
delay (1000) ;
}
if (digitalRead(A3) == LOW) {
m++;
delay (500) ;

lcd.clear () ;

if (m == 1l)memori 1();
if (m == 2)memori 2();
if (m == 3)memori 3();
if (m == 4)memori 4();
if (m == 5)memori 5();
if (m == 6)memori 6();
if (m == 7)memori 7();
if (m == 8)memori 8();

if (m >= 8)m = 0;

}
void tampilkan hasil () {



delay (1000) ;
while (digitalRead (Al)
lcd 0);

:")

.setCursor (0,
lcd.print ("Teg
lcd.print (tegangan) ;
lcd.print (" Volt");

lcd.setCursor (0, 1);

lcd.print ("Nilai:");
lcd.print (kekeruhan) ;
led.print (" NTU");
if (digitalRead (A2)
lcd.clear ()
m++;
simpan (m) ;
}
delay (1000) ;
lcd.clear () ;
setup () ;
}
void simpan (int m) {
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lcd.print ("tersimpan ") ;



lcd.print (m) ;
delay (1000) ;
digitalWrite (Al, LOW);

}

void memori 1() {
float f2 = 0.00f;
EEPROM.get (10, f£2);
lcd.setCursor (0, 0);
lcd.print ("Nilai:");
lcd.print (£2) ;
lcd.print (" NTU ");
lcd.setCursor (15, 1);
led.print ("1");

}

void memori 2 () {
float £f2 = 0.00f;
EEPROM.get (30, f2);
lcd.setCursor (0, 0);
lcd.print ("Nilai:");
lcd.print (£2) ;
led.print (" NTU ");
lcd.setCursor (15, 1);
lcd.print ("2");

}

void memori 3 () {
float f2 = 0.00f;
EEPROM.get (50, f2);

lcd.setCursor (0, 0);



lcd.print ("Nilai:");
lcd.print (£2) ;
lcd.print (" NTU ");
lcd.setCursor (15, 1);
led.print ("3");

}

void memori 4 () {
float £f2 = 0.00f;
EEPROM.get (70, f£2);
lcd.setCursor (0, 0);
lcd.print ("Nilai:");
lcd.print (£2) ;
lcd.print (" NTU ");
lcd.setCursor (15, 1);
lcd.print ("4");

}

void memori 5() {
float £f2 = 0.00f;
EEPROM.get (90, f2);
lcd.setCursor (0, 0);
lcd.print ("Nilai:");
lcd.print (£2) ;
lcd.print (" NTU");
lcd.setCursor (15, 1);
led.print ("5");

}

void memori 6 () {

float £f2 = 0.00f;



EEPROM.get (110, £2);
lcd.setCursor (0, 0);
lcd.print ("Nilai:");
lcd.print (£2) ;
led.print (" NTU");
lcd.setCursor (15, 1);
lcd.print ("6");

}

void memori 7 () {
float £2 = 0.00f;
EEPROM.get (130, f£2);
lcd.setCursor (0, 0);
lcd.print ("Nilai:");
lcd.print (£2) ;
lcd.print (" NTU");
lcd.setCursor (15, 1);
led.print ("7");

}

void memori 8 () {
float f2 = 0.00f;
EEPROM.get (150, f2);
lcd.setCursor (0, 0);
lcd.print ("Nilai:");
lcd.print (£2) ;
lcd.print (" NTU");
lcd.setCursor (15, 1);

lcd.print ("8"™);
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